“ VOLANTI

| SPLAYS

VD-LT-ST (Laptop Tray)

Instruction Manual

& WARNING!

If you do not understand these directions, or if you have any doubts about the safety of the installation, please call
a qualified technician. Check carefully to make sure there are no missing or defective parts. Improper installation
may cause damage or serious injury. Do not use this product for any purpose that is not explicitly specified in this

manual. Do not exceed weight capacity. We cannot be liable for damage or injury caused by improper mounting,
incorrect assembly, or inappropriate use.

Rev 1.0 March 2024



VOLQ NTI

| SPLAYS

A WARNING: CHOKING HAZARD

SMALL PARTS - NOT FOR CHILDREN UNDER 3 YEARS. ADULT SUPERVISION IS REQUIRED.

PACKAGE CONTENTS
A (x1) B (x1) C(x1) D (x1) E (x1)
Pole Clamp Arm VESA Plate Laptop Tray
- u 7 =
F (x1) G (x1) H (x2) 1(x1) J(x1)
Grommet Base Soft Pad Arm Cable Clip Pole Cable Clip Pole Cap
[ ® B -
S-A (x4) S-B (x4) S-C (x1) S-D (x3) M-A (x4)
M4x8mm M4 Nut M6 Nut M6éx16mm M4x12mm
Screw Screw Thumbscrew
0 )
M-B (x4) M-C (x4) T-A (x1) T-B (x1) T-C (x1)
M4x30mm M4 Spacer 3mm Allen Smm Allen Wrench
Screw Wrench Wrench

Tools Needed

Phillips

4

Screwdriver

r
1
1
(]
1
1
1
1
1
1
1
'
-

Note: Some hardware included may not
be used

& DO NOT EXCEED WEIGHT CAPACITY.

Failure to do so may result in serious injury.




L S
ASSEMBLY STEPS

STEP 1

Option A: Desk Clamp Install

Loosen Clamp Bolt (B1) on Clamp (B). Install
Clamp (B) to Pole (A) using M6x16mm Screws
(S-A) and 3mm Allen Wrench (T-A). Secure the
clamp assembly to the desktop.

[ TA
'fi) S-A

\ 4

Note:

Pole already
installed




“, B/OLCINTI

| SPLAYS

STEP 2

Slide Pole Cable Clip (1) and Arm (€) over Pole (A). Secure Arm (C) at the desired height using 5mm
Allen Wrench (T-B). Insert Pole Cap (G) into the top of Pole (A).

Attach Arm Cable Clips (H) to Arm (C). \




“ B/OLCINTI

| SPLAYS
STEP 3 and 4 Note: VESA Plate already installed (Skip this step)

Assemble VESA Plate (D) to Laptop Tray (E) using M4x8mm Screws (S-A) and M4 Nuts (S-B).
Tighten using Wrench (T-C) and a Phillips screwdriver.

Slide VESA Plate (D) with Laptop Tray (E) onto Arm (C). Secure the assembly in place using
M6 Nut (S-C).




3 é/OLFINTI

| SPLAYS

Step 5
Swivel and tilt assembled laptop tray to desired angle

Step 6
Assembly complete




“_ VOLANTI

DISPLAYS

Support:

t: 408.500.3500

Volanti Displays

18440 Technology Drive, Unit 130, Morgan Hill, CA 95037
Email: sales@volantidisplays.com



